iSKRﬁ MpombilneHHasn

BTynKM 1 cTynuupl / 3aXKUMHbIE BTY/IKM TpaHcMuUceusa

Cepua KLDB

NV

Marepuan: cranb C 45 E - UNI EN 10083-1 H1
Pasmepbl nepepg, c6opkoi

Pasmepbl, Mmm 3aTaXKKa OcnabneHue Xa;:::::(ipu- ﬂg:g;::sc:s
D. H H Hs NV (:AVA) Ko:::::;w NV Ko:::f:;w ::IA:) (Iﬁ) (H/PMaMZ) (H‘/)::AZ)
KLDBO19 19 | 47 | 53 | 45 | 39 | 26 | 31 | M6x20 | 17 4 M6x20 2 202 21 127 51
KLDB020 20 | 47 | 53 | 45 | 39 | 26 | 31 | M6x20 | 17 4 M6x20 2 213 21 121 51
KLDB022 22 | 47 | 53 | 45 | 39 | 26 | 31 | M6x20 | 17 4 M6x20 2 234 21 110 51
KLDB024 24 | 50 v 56 | 45 | 39 | 26 | 31 .M6x20 17 7 6 7 M6x20v 3 384 32 151 73
KLDB025 25 | 50 | 56 | 45 | 39 | 26 | 31 | M6x20 | 17 6 M6x20 3 400 32 145 73
KLDB028 28 | 55 | 61 | 45 | 39 | 26 | 31 | M6x20 | 17 6 M6x20 3 448 32 129 66
KLDB030 30 | 55 | 61 | 45 | 39 | 26 | 31 | M6x20 | 17 6 M6x20 3 480 32 121 66
KLDB032 32 | 60 | 66 | 45 | 39 | 26 | 31 | Mé6x20 | 17 8 M6x20 4 683 43 151 81
KLDBO35 35 | 60 | 66 | 45 | 39 | 26 | 31 | M6x20 | 17 8 M6x20 ‘ 4 747 43 138 81
KLDB038 38 | 65 | 71 | 45 | 39 | 26 | 31 | M6x20 | 17 8 M6x20 4 811 43 127 74
KLDB040 40 | 65 | 71 | 45 | 39 | 26 | 31 | M6x20 | 17 8 M6x20 4 853 43 121 74
KLDB042 42 | 75 | 81 | 55 | 47 | 30 | 36 | M8x30 | 41 6 M8x30 3 1216 58 135 76
KLDB045 45 | 75 ' 81 | 55 | 47 | 30 | 36 | M8&30 | 41 6 M8x30. 3 1302 58 126 76
KLDB048 48 | 80 | 86 | 55 | 47 | 30 | 36 | M8x30 | 41 6 M8x30 3 1389 58 119 71
KLDBO50 50 | 80 | 8 | 55 | 47 | 30 | 36 | M8x30 | 41 6 M8x30 3 1447 58 114 71
KLDBO55 55 | 85 . 91 | 55 | 47 | 30 | 36 .‘ M8x30 | 41 8 M8x30- 4 2124 77 138 89
KLDBO60 60 | 90 | 96 | 55 | 47 | 30 | 36 | M8x30 | 41 8 M8x30 4 2317 77 127 84
KLDBO65 65 | 95 | 101 | 55 | 47 | 30 | 36 | M8x30 | 41 8 M8x30 4 2510 77 117 80
KLDBO70 70 | 110 | 116 | 67 | 57 | 40 | 46 |M10x35| 83 8 M10x35 4 4381 125 132 84
KLDBO75 75 | 115 | 121 | 72 | 62 | 40 | 46 |M10x35| 83 8 M10x35 4 4694 125 123 80
KLDBOSO 80 120> 1267 72 | 62 | 40 | 46 ‘7M10x357 83 8 7 M10x35. 4 5007 125 115 77
KLDBO8S 85 | 125 | 131 | 72 | 62 | 40 | 46 |M10x35| 83 10 M10x35 4 6651 156 136 92
KLDB0O9O 90 | 130 | 136 | 72 | 62 | 40 | 46 |M10x35| 83 10 M10x35 4 7042 156 128 89
KLDB095 95 | 135 | 141 | 72 | 62 | 40 | 46 |M10x35| 83 10 M10x35 4 7433 156 121 85
KLDB100 100 | 145 . 151 | 89 | 77 | 46 | 52 ‘M12x45 145 8 M12x45. 4 9104 182 117 81
KLDB110 110 | 155 | 161 | 89 | 77 | 46 | 52 |M12x45| 145 8 M12x45 4 10015 182 106 75
KLDB120 120 | 165 | 171 | 89 | 77 | 46 | 52 | M12x45| 145 10 M12x45 4 13653 228 122 88
KLDB130 130 | 180 . 186 | 89 | 77 | 46 | 52 >M12x45 145 12 M12x45. 4 17747 273 135 97
KLDB140 140 | 190 | 196 | 98 | 84 | 51 | 59 |M14x45| 230 8 M14x45 4 17328 248 102 75
KLDB150 150 | 200 | 206 | 98 | 84 | 51 | 59 |M14x45| 230 10 M14x45 5 23207 309 119 89

" Y L | @@/@/p {E} www.technobearing.ru




